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MATH 1010 ~ Intermediate Algebra Chapter 9: EXPONENTIAL AND
LOGARITHMIC FUNCTIONS

Section 9.2: Composite and Inverse Functions
Objectives:
#% Form compositions of two functions and find the domain.
# Use the Horizontal Line Test to determine whether a function has an inverse.
i

Verify that two functions are inverses.
Find inverse functions algebraically.
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Composition of Two Functions
(nested funchions, fanchion o & Aanchion)
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@ EXAMPLE
Find the compositions. State the domain where applicable.
dowain. X EJR domavn: xelR

f(x)=~x-1 g(x)=3x"+2

(domnaca)
a) (gof)x)= g('F(X\)‘ ﬁr(@
demaun . xe(R f J“‘-‘)*Z

by (fop)5) =F (5())=F (3()+2)
“f(Rsw)<£(R)
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@2 EXAMPLE
Evaluate these.

fl=x"~1 g(x)=2x+5

Q) (fo9)0)=F(50)= $(2le)+5)
=f(s)

=g = |zs-\=@
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An Inverse Function ; @ reguiremant | inverse
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@ EXAMPLE
Find the inverse of each function if it exists. Alaebraic
Method f\n d
a) f(x):sz—ll'a. nvervse ‘RLU\C‘I\.G'V\

c) h(x)=x" -1
@ X= ta‘-' \
@ xl=y
Y NESA T k-'(xB

@O switeh the % {‘
\%,

?@ solve ‘Rw ta__',
'“‘-L r&na.w\iu\a -R\

® 2l3<"|=-x
2y =
S .
g = N
b) g(x)=x"+1 = £
® x=u3'+\
@ X-\'-'c;
\a-.-:t X= |

ol(y) NE Jb\\
(hx)= fan =0 )k 6= 63 Z




